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PART - A |
“Select the most appropriate answer of the question by completely darkening the bubble in the O)

answer sheet” ;
J fdd yrat ® €53, Bawt R Jot 83 feamyt S g 3 feB/859 e I wonas
L GRS Gy et § Sz e 339 3 st R forard fird g sl i 3 2

(@) 335395 (b) Bfmre () ifiEEe (d) dJoEHYd
2. 'ﬁﬁ&nvéaWW'mémmwﬂaﬁﬁhﬁﬁémme?
(@) gnra (b) TIH= (©) éggfegﬂzr d) <Zafrgde
3. miardwl € HEE ‘Petitioner’ Het Hy Urrst qu g ;
(@) UYorusg by < (€) Ta3dt (d) ygux
4. e Ay Hu s v w3 Afemr & f ffime fg 2fanr 2
C G b) = ( fs (d w9
5. ‘fHo’ »o33 Ba1d ges T At HEE ge
(@) fAgar (b) fradlt () fiom (d) fHa-wret
6. I fod muet &3 formzft-flaT mee qu g2 -
(@) Tacr (b) sea (© wIvefda (d) wwg
7. a9y & Haei fEg fad ffm g 2
(@) yIBe (b) feaae () w& @) TIue
. 3. %%%aw%%w:'aa-aaaaw'géga?mgé:
i (@ wEdtagst () dwe (0 ug3dsE (d) IR
9, éafsﬁrw"@“éfaa?ﬁﬂ@m,'mrection'éhﬁai@w@?é?
(@) dTaget (b) Tefes () Ifedaea d) fenfgs
10. ﬁ@ﬁﬁ?%ﬁﬂ%éﬁééﬂﬁ?%ﬁ#éﬁﬂ%@@ém?mﬁmaﬁéﬁﬂm?
@ A H{A iy nromeding (b) = der fiw gaeg
© 9 ausfity (d) 7. ot fHusse

11. % iess Sar1a ges o At rae 92
() midftaw (b) wizE (@ wes (d) SuissH3d
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. . = 7:-,-'{-_.—_'_’,,—,_‘ _____ ' I
12 1 319 iare e ' et fam arg e § 7 2
(@) 313 3g1 mareg it (b) it arg moms R ¢
(© g nnsge (d) ot g e

P13, %mm@ﬁmﬁmmammmm@
(@) eEedEht o) dwaffer (o 2o-gHid (d) 2w

14. Wdt meeRz g
(2) digewy (b) ey () e d) RgEwmw
15. @R q1g wfges f&d W32 g9 afaes o &t o) |
(@) Hagrersed (b) gy arfe o
(c) i 31g godiftfe mfoa 7t £ (d) targ Ingew
16. ‘Hi 31 54 B ' & 8 grar f¥g et H auar i 2
@ 19 (b) 16 (e 33 (d 29
17. ‘BT WT 2 HF 83wy | 67 & NaT Ao™ AHes M g 3 wfod era ¥ = faadft fomyer mae 3 2
@) fafanr-fermes (b) fonB*rF (0 &= (d) ferm=
18. wﬂﬁaém@ﬁéﬁw-mgmmwm.mwmmﬁgam
=t AEl T 2 Adt feamu g
() Iéa”ﬂ (b) faStanr () #Iat (d) =fded
19. fenrags € gt ‘gat-gu fig e niftmis i3 A 3| gaet feamy g & welt mers 53
(@) HEE 3 T @ nigat (b) wae
L (0 B d) ==

=20, %Wfé@ﬁaa*/%méﬁa—aﬁsfma*/@ﬁaéﬂamﬁé&mﬁéﬁsaﬁ?
Ay 3 85

(@) dloa 3nmgst (b) fiset (©) waar3usE ()
21 "Af9’ »3139 a1 & Hen e Ht HEE g

(@) wloss (b) wfgem (€ wfod (d) wfow
2. e I fagd iardet Wt Hdtfantt i niger 3 ? ] f

@) vezEg b) FEE () mMo3E3-5eEd  (d) MAH3-ASEd
B, I o & faox feasy Uar qEe @ »agi § ‘adl’ yaege ?

(@) yg (b) 1ﬁ37 (© f§3 (d) rr
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23 IR EH 3 e 3 Queds g o et 2 e e e e s 1 BT ety
@) e (b)  yasoreh (© fesed (d) S AR
25. aaﬂ““ﬂ:‘ﬁﬁsiﬁiéfaaé}méwﬁa-&sm‘fé?
(@) Ry )  widAn () itz (d) Hh
26. WUTTGR:

(@) WeR €Wy G359 o6 (b) NIy feG G5 o a6
© SEENRAREN YT (d) Ry w, AuR ot € @59 feg

27.  fRVa v R 8w 3 s S e eaf3nr e 3, 8R Hal d9 fagar nure =afsm 7 Haer 3 2 A

feamuifed g2
(@) fé:aeaa“eﬁeag@ (b) fo=Zaet &df, ¥ 2 ugsH
© ftaag?;aaagsw@ (d) fEasigas, 13395723

28. féwaammﬁ%wf@ﬁnzwfaﬁw%rmrm7

@ s b) A © 2 @ 3
29. e foredt R e S’ & wiardelt fite i fiauia ?
(a) Three and a quarter (b) Three and a half
Three and three quarter (d)  Three quarter less

30. ‘Head Examiner 8¢t Yt fisg Faasvaae‘e'afswaiera ?

(@) Wy azaa (b)  Hemfryg (g W Yeftftmg d) Yuvesg

31. éaﬁ%ﬁnae*f‘eéyf&mmaéﬂmféamgi

(a) Je-anet (b) éz-m (c) QE—UB#I (d) (a) "3 (©) a2 dt

32. Iz fefuni fed faad aas ‘dardt gm &d wdt os 2
() Ut e Bfdet w3 f5et o &3 @ ida d)
(ii) Frreft, Ut nudn 3 st 3, fon & Haral miugh @ nmg g

Lo et o R e i TS o T T e 3, gy N
¥ ﬂ%m & festni migwra feeafivs 98 fend as d97e g amm

(@) a8 (i), (i) 3 (iii) & At 95 |
b) =Es (i), 3 (i) At T |
© = ()3 i) Fh s
(d) g (i) 3 (i) At I |
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35 Tt &3 faaar mae gy feime, ferfie w3 fafor fene 553 2

(@) MdT (b) i (c & (d) e
'Hurea' et vardwt © faoa mae gaeid ?

(a) Eligible (b) Discharge (c) Editor (d) Addition
i 912 & grawdt faresh fé fom gt fsfemm Frear 2

@@ U2 (b) ARd © wWed (d) dSew

WWF@G@HW&@@S@W&%WWMW?
(@) femwm@emffgaafos (b) Al M8

(©) S dIe (d) HodHe S

g gErts fifw /' & &g § o< efsa dfisr ?

(@) 1332891780 (b) 12»id&1801 () 7 E®E 1799 (d) 273831798

o fafimfi fEF ‘gar @ maa' & yarergeE e Al feamu ge :
(a) aﬁms'éfﬁ'ag"eafen?,a? (b) yar

=

() wH& (d) feost &S aet <t ot

‘Arest g1 et ea3 fan grg wfoes & i3t ?
() 7t 3rg 3grETET A (b) i I1g a2 it
(c) Htarg »ane ee (d) vt arganen At

40. fh”aga‘féaﬁg"saf’é@aaftngs‘é-nsééea'ﬂf'fkafaawwﬁa‘rfwwa‘w
ﬁa-aﬁaw%-guém'ﬁga?kamgzéwﬁmam

@ T (b) & Skl RS

41. %Wfé@ﬁﬁ%ﬁﬁﬁ?ﬁ?@é ;
) ®Ht/39 (b) ot | G (©) ot | fais (d) oft/na

——

i w7 eRE el e e B
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42. %mmﬁém,mﬁgwegaﬂwmwﬁamm-asa?

. et 25
@ dpidis ) dgdes @ egdE @ B

ot 'ﬁaﬁéﬂ%wkﬂmﬁé@m—mﬁmﬁawﬁwﬁmﬁzﬁmu@?@Maﬂﬂaﬂq&l
foraar nae afsm Arar 2

(@) oy adidt gufad ot (b) doF A gset ffentt ‘G mid
() St fatest nim Afenr femma d) dHenedgIE e

44, > fsfimii 29 fom wae ‘o1 @ AEOER 3 2
@ B b) © 3 (d) e

45, wue: R ud e e fagd M eafr e d ?
(@ 637 aftease, fant dwAdsWaA-daad
(b) €37 feg Sne 3R f 3 nnfiat & golla 3 geflar & mifia arafen’ gt 2 adf e
o 627 SR ets 3 s 9 3 Wy Evii feTei emis 3
82 7S M gigt 2 feda eets 2t 3

46. Ml 2 & BE vy YAt gy g
(a) =<Ed (b) =ded ) aeda d) ae=a
47. ¥e fifu gaeg & firefsa I Jsehr yardn it H3ar 2 33 % iyt frgrer gt
feamy 9= a yddt rEs 39| e '
(a) BofedTy (b) HrréeuTATaE () wfRyg d) FoEEyg
48. Ja fafinr fed faaa niud a5 ‘frardt’ Ba1 €t &a3 o & odt Jet 2
(@ 9,8 (b) 8™ © T3 @ ex
49. 'ﬁ@g%amam'm@gnﬁa%éngaaaa?
(a) Htarg anem it (b) ft arg afs o mrfrm
(c) i arg noms e (d) 33 Todfte wfoe @
50. YU Hge-A3 T Al feasy g : '1
(@) weefoh (b) wefod ( welol (d) wwehnd
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Scanned with CamScanner




, : PART - B
- “Select the most appropriate answer of the question by completely darkening the bubble
answer sheet” :

35 fxd yras' @ €33, Boa' @ dat i3 feamut féd ge & fe6/€59 Hie '3 ean ad:
51. Who is the author of the poem ‘Pinjre Pia Panchi’ ?

in the OMR

(@) Prof. Mohan Singh (b) Dr. Jagtar
(c) Bhai Vir Singh d) ShivK ;
R R G lﬁg o S Re s (d) v Kumar Batalavi
@ Q:Aos fitw (b) . FEET

@ sHEEhv d) frepr e

52.  The first version of ‘Gadar’ magazine was published in language.

(@) Hindi (b) Punjabi (c) English (d) Urdu
e N T ufre ineas g e yarfirs 3t At
@ f&& (b) drreh () g (d) €JT
53. Which of the following city will host the Summer Olympics games-2028 ?
(2) _ Florida (b) Atlanta () LosAngeles (d) New York
taat %@faaamﬁammﬁwé%ﬁ@ﬁﬁﬁﬂstzozsiﬂﬂﬁwﬁagam
(@) 3tz (b) B (c) ®HEASH (d) fsBuaa
‘Who is the Chairperson of Niti Aayog ?
((a)) Chief Justice of India (b) President of India
C Prime Minister -
= o ister S (d) Speaker of L-ok Sabha
(a) 333 e dig Anfen (b) 393 T IHIIUS
(© Ya&Hsat (d) BaFs e Rfiad
Krishnadgva Raya (Ruled 1509-29), the most famous ruler of Vijayanagara, composed a work on
statecraft is named as the Amuktamalyada. It was written in language.
(@) Hindi (b) Sanskrit () Telugu (d) Tamil
fareee a8 (AAs 1509-29), 2 73 3 HAgd HHE & nHESHTETET @ o™ &5 IHdgee 3 € 3o
&t ggo &1t feg g feg st famr |
(a) fdet (b) ¥AlFS () 357 (d) 3hes

56.  Which of the following facts is correct about the Beas River ?
(1)  The Beas River originates at the height of 4361 meters from the sea level.

(2) It debouches into plains at Talwara in Hoshiarapur district.

‘ (3)  Pandhoh dam is built over this river.

4)  Soan, Chitti vain are the major tributaries.
(b)  Only (1) is correct.

@ Y2, 3) and (4) are correct. @ (), (2) and (3) are correct.

c) (1) and (2)are correct.
a3 o fisd f foraa Sa Adt 7
(1) WWW%M%U&H@M%W@
mwméwmmwmmm
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59, Which of the following type of fever in human beings is not corr
; Malaria p |

(a) Plasmodium
() Salmonella typhi Typhoidme BB | ESES
(c) Haemophilus influenza Pneumonia 1‘ .
(d) Ascaris | Common cold ’ -
(a) uBEASM ey b
(b) T Gl e CACIES |
(c) dmfesn fazega fesatr
(d) mefeH it e
60. Lala Lajpat Rai was bomon___ E
(a) 30th January, 1865 (b) 27t January, 1865
() 28thJanuary, 1865 (d) 29'hJanuary, 1865
BB grﬁus'%fé T HEH i e e w1
() 30 Feedt, 1865 (b) 27 TieEd, 1865
() 287&ed!, 1865 @ Aoed!, 1865 ;
B e e e K ey -
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Scanned with CamScanner



CHO0Y D

k..__.-. a“.ﬂ-m .,...

4 ._«: 1 :
B

i N
correct about Adi oaf%.
ompleted in 1606 CE. _- .
f Earlier Gurus from Baba Mohan ji.

i

Which of the following statements is NOT
(a) The compilation of Adi Granth was ¢
(b) Guru Arjun Dev ji himself collected the Bani o
(c)  Guru Arjun Devji collected the writings of Kabir ji and Baba Farid.

(d)  Bhai Gurdas ji helped Guru Arjun Dev ji to compile the AdiGranth.
iﬂ?&mm&@mﬁmmﬁﬁaﬂmﬁma&ww e
(a) mife dfE T HaBS 1606 Eret fég yar afemr wit
(b) m@iﬁmﬁawém@g%w:&wm@%ﬂ%m&g&%?
© ,@@gﬁmﬁ%wmﬁmaiam&m%gmg%_ L
(d) a%mﬂ%w%%ﬁ%&%%mgﬁmmaxmm&_

Who is the author of Madhya Asia Ka Itihas (History),
(@) Namwar Singh (b) Amritlal Nagar

HeR

a Sahitya Akademi Award Winner book ?

—

]'\ll‘\ .
(c) Ashok Vajpeyi (d) Rahul Sankrityayan
TS wiaret weas A3 fas™ g Sy & fef3am’ (fefsam) T B@AE I ?
(a) oned fifw (b) MHEES BI8
(@ »mx e ) TIBHSES
3 9 P.T.O.
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for goods is defined as the percentage change in demand for the goods divigy,

65.
percentage change in its price.
(@) Priceline (b) Price elasticity of supply
(¢) Price elasticity of demand (d) Price ceili.ngn i
fot s B §mmaﬁﬁmfé€qﬂﬂssaaﬂ?ﬂ§fkneﬁa‘bﬁ Y33 3Edi
a5 2 gu fée ufeis i3 Aer d
(@ Nodw (b) et & o3 BIEI
© Ol s ses (d) ez Hifisar - |
66. Complete the sentence : ) ' -
1f Wignbledon Trophy is associated with Tennis then Walker's cup is associated with ?
@ Golf (b) Table Tennis (c) Polo (d) Marathon

i
TG YT a3
mmmmmﬁwéimﬁu 2 & gfanr I
@ dBe b) 2uwfen © U3 (d) AIEs
When the rivers originate from a hill and flow in all directions, the drainage pattern is kny

67.
a) Parallel (b) Dendritic () TE}lis (d) Radial
L) mEsa(A3sm) (b) 3dted (3FHfea) () e (QfsE)  (d) Jadt (IF)
68. In 1919, a team comprising dozens of scholars initiated the task of preparing a critical editior
Mahabharata.
Which of the following was the leader of this team ?
(a)  .S. Sukthankar (b) Daya Ram Sahni
(c) R.D.Bannerji (d) John Marshall
1919 fég, eanes feeest o fia & & HIT9'a3 B MBYESH HAAIS f3ng Jas & Sy yg &3
fiam i & mirg) 3 fsfem (& foram it 2
(a) @19 ga3ad (b) =ur IH HISH
(c) a3 daart (d) & HIHS
69. If rice is associated with Kharif then is associated with Zaid.
(@) Vegetables (b) Wheat () Mustard (d) Cotton
Aad 98 ydleg &g Hafu3 3 31 He as Hbfa3 3/T5 |
(a) e (b) oed (© W (d) =g
CH-001/D 10
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74.

Which of the following categories of servin
Awards ?

@) |
(b)  Serving Government Teachers and Professors
(c)  Serving Government Engineers and Architects
(d)  Serving Government Doctors and Scientists
35 fodintt (ot S maardt sgvardinit < gt Reras A2 e yararat et dar d ?
(a) WIS HIAIt IBe niftarat "

(b) RIS HIXA nftmirye »3 Yerd

(€ Weas vaad fEriding »i3 madidae

g Government servants are eligible for the Peldma

Serving Government Railway officials

(d) PeTs et seed M3 fefamet

In the Guru Granth Sahib, the bani of Guru Amardas ji is available in Ragas.
(@ 18 Ragas (b) 15 Ragas () 1_6 ISagas (d) 17 Ragas
319 3 wis f&S 1g »higeH i & gt gt feg BusEd J |
@ 18T (b) 153@ () 163 d) 173
Which instrument is used in submarine to see the objects above sea level ?
(@ Endoscope (b) Telescope (c) Periscope (d) Stethoscope
miedt 55 3 BUT e & Bue wEt yeIHt i fagar wisg =afanr Aer d ?
CYRNRCELEL] b) HHIY (€ Oty (d) weEwaY

Which of the following Misl was NOT a part of Dal Khalsa ?

a) Singhpuria Misl (b) Ahluwalia Misl
(c) Nishan Walian Misl (d) Phulkian Misl

3 fadin fed faadt s e8 usw e fdAT &t Ht 2

(a) THuydr ims (b) mMagEEHT fins

(c) foasedh fims (d) gudnifims

Which of the following statements is correct about the first General Elections of India ?
(@)  The first General Elections were held from 25 October 1951 to 21 February 1952.

(b)  The first General Elections were held from 25 July 1951 to 21 October 1951.
(c)  The first General Elections were held from 25 August 1951 to 21 December 1951.
The first General Elections were held from 25 October 1950 to 21 January 1952.

d

é%zaﬂnﬁufapﬁnﬁwézia@aafsmw%ﬁawmmﬁa?

(a)  UfgEht minq 97 25 marzad 1951 3 21 ededt 1952 3a Jeht A
(b)  yfgEt mmy 9 25 gBEt 1951 3 21 Mazed 1951 38 Jefi A
() ufgdini ning 97 25 aTH3 1951 3 21 EHET 1951 39 g W |

(d) Ufgdmf mmy S 25 nig3ad 1950 3 21 AGed! 1952 3d e A |

Name the Mughal King who also mentions the word Panjab in his autobiography ?

- 75
(a) Shahjahan (b) Humayun (c) Akbar (d) Jahangir
BH HITS §THd T ™ oR, fn & Myt me-Hieal fég @ ira nee v fasg i3 d 2
(a) WO (b) o () MoEd (d) maiafts
CH-001/ D 11 P.T.O.
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76.  Which of the following is India’s first civilian space tourist ?
(a) 7 @GRS Gopinath

(b) Rahul Bhatia

(@ Gopi
% ﬁg%‘)ﬁlchand Thotakurg (d) Rakesh Gangwal

SIS T Ufaw wrarfga min wsfd 7
@) g, (b) TSI
(©) e Sergar (d) dam dfares
77.  Who is the author of Tirthawali ? .
(@)  Shah Husain (b)  Saint Kabir (c) SaintTulsidas (d) Saint Namdev
THREITI? 4
(@ wIgis (b) H3adHa (c) ¥33uHen (d) w3aEMHRE
78.

As per the provision of of Indian Constitution, the House of the People, the Lo
is the Lower House of the Parliament.

(@)  Article 80 (b)  Article 77 ()

2 Article 78 (d) Article 79
S5t Hfegs = é‘@uﬂ’a@mﬁaw,@awﬁme’mmm
(@) T80 (b) gar77 () Ta78 (d) Tg 79
79. Which of the following film actor won the best actor award in the 70th National Film ,
20247
(@ Mohan Lal (b)  Rishab Shetty ()  Manoj Bajpayee (d) Kamal Hassan
: 7@%@@@@2024%%@@@%@%%%@%%?%%
.y @) WIEBH (b) fome A

(©) H&H gy (d) v aAs

80.  Who of the following gave the name Pentapotamia to Punjab ?
(@) Spanish (b)  Portuguese (©) Greeks iti
e 24 fam & U & Jerdenttnm any firsr o htsoeh
(a) wO&t (b) yIsars © Tt

G (d) fafex

Who was the first Test centurion in Indian Cricket ?

(@) Sunil Gavaskar (b) C.K. Naidu ()  Lala Amarnath (4 i
593t fgere fég ufamr 2ne Hadines 3=t 2 (d)  Vinu Mankad

(a) HolBaremss (b)) A, afg (©)

81.

TEOMHISE  (d)  fem g

82. Which of the following is not a block of Amritsar district ?

f(g%!?)'i é%}%}ﬁmawa 'ﬁﬁi{?ﬂﬁ f’lg'%zl'aﬂﬁ’a &dt d gC) welia (d)  Jandiala Gura
(a) a®&d (b) mMHE (€ iftsr s b
ins at Rupnagar were excavatedby 9
O Dt T ) Dy Ramsam
(c) R D Bandopadhyay (d) None of the above
W@mémam/waﬁmm
(@ = SEaw (b) Wwﬁﬁ'aﬁﬁl i
(©) g 3t Seufimme (d) Buds3
CH-001/D 12
g
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World Bicycle Day is celébra:téa'every‘yéaff" okl
(@ 06]June (B) DBJune - BT B

(g % ”f&?ﬂ -

e o (LDR) seup 2 S

for &t HETUwT AGEd!, 1988
(©) Fene‘imﬂ?sza‘tl%ﬁéaa‘ls‘lméhﬁ
(d) ﬁewérwu?srnma‘t,w%féaa‘laﬁae‘hﬁ 3
sy

Which of the following was the first major public appearance of Mohandas Karamchand Gandhi in
India ? '

(a) Peasants movementin Kheda i

(b)  Opening of the Banaras Hindu University (BHU)

(c) Champaran movement, 1917
(d) Ahmedabad textile mill workers movement, 1918
Wwwém@auﬁﬁaﬁmﬁﬁ&%ﬁ%ﬂwhﬁmﬁrﬂ ?
(@) dFfEgfars Mess
(b) aaaa?wléféaawﬁgg?ﬂeamzﬂ(BHU)e'@Eum
() dyasriess, 1917
(d) »ifoeEEe gy fifs egad Mess, 1918

in February.1916

8. When did the Sahitya Akademi formally inaugurated by the Government of India ?
(@) 12 March 1955 (b) 12 March 1952 () 12March1953 (d) 12March1954
mmwnﬁmﬂwaﬂmaﬁaﬁwﬁwﬁ ?
(@) 124991955 (b) 1243991952 () 12W991953 (d) 12H391954

A 13.

P.T.O.
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89.

":37 atl ries
El t Batteries e

- Infantry Batteries L e
~ Camel Swivels O 7o 1l

) City life (b) Peasant life (c) Seasons (d) Common man
3 2 £ P at oy ofga @ fiswe  femn adt HE 2
it () Rddes (9 Ao Rk e

Name the person who has been appointed as the president-designate of the National Associ
of Software and Service Companies (NASSCOM). ,
(a) Rajesh Nambiar (b) N.R.Narayana Murthy
(c)  Salil Parekh (d) Shiv Nadar
&7 feniadt & & 2R fan § SHGB MAHERS Mie Hecemd nis Hafer duatd (NASSCOM) T4
fruas fawaas di3T famd |
(a) TmAE ST (b) &Y. BT Had
(c) HiEEUIY d) frezes

.

92. Which of the following is a poet of Vir Kavi Dhara ?

(1) Guru Gobind Singh ji (2) Shah Muhammad
(3) Najabat (4)  Pir Muhammad
(a (1), (2), (3) and (4) are correct (b)  Only (1) is correct i
(c) (1) and (2) are correct (d) (1), (2) and (3) are correct (
fegst & faga ot dg aet gar erael d ?

(1) g afife fifw (2) HIHDE

(3) wAE3 4) dtIndE

@ (1), ), @) ™3 @) " Ts (b) Pz (1) wtd

© ()3 ) wft T3 @ (1), "3 @) "t TS

CH-001/D 14
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@am#ﬁéég@@guﬁvﬁ@awu@emnﬁcﬂa maﬂﬁam&; w
(@) Har ®) Al e ﬁa*‘*“”’*‘ B

kel

o
4

&
N e

98. I fosfemri &4 foramr Gt were - conveyance allowance % . .
(@) yz-F3r (b) TTHIE I (© W are: (d) mas'r

9. ‘Ferar mae o féd nigw J; ‘An3 A HAZ, I it i 3a faaar nige d Feer A 2
(a) A= (b) W © <w () gforre

100. ‘wegge’ Hee f5a3 fug3a &t ea3 ag afenr d 2
@ dT< (b) e () dae (d) Budazwadt

—

101. I 8 feasy féS mdt Fae-nz g8
(a) JFenar (b) TPEET (© &= (d) I

- - =

CH-00Y/ D 15 P.T.O.
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102, ‘ovrfedt e Bt 35 faftmi 89 gaei feddt e g
(a) fecdt (b) Ty (© ot d) TBS

oy

103. ‘»f’ MJI3d Bd1 A €& TH At HEE g ;
(@) Mg (b) nHdig () mHSE

—

(e

104. I o) e &4 niferdewa uzse g !
3t 3 fivag ST R4S &t wie s, st § At yHies € aet ugea adt
(d) €5

@ W= ©) = © e

mmém-#émw,mmﬁmmﬂmammwgaeéga
% s Freat | Hdt feasy ge A Ut HEG 9 |

_ aBAan3selIsEEE
) d) wna
@ ferfim (b) "EI3I () e (d)
106. Fullformof TFTis .
(@) Tabular File Transaction (b) Thin File Transaction
() Thin Film Transistor (d) Thick Film Transistor
TFT € Yo' SoH J
() <ESdTESIAAHS (b) HseTES THIHS
o) Eisfemy egifaned (d) €= fesH egifarea
107. A computer on internet are identified by :
féeade 3 dfuged gt use o |3t At 3
(a) Serial No. (b) e-mailaddress (c) Streetaddress (d) IP address

108. In MS-Excel, what will be the result of “=product (5, sum (2,7))” ?

MS-Excel f€g, “=product (5, sum (2,7))” & &3t &ft 92ar 2
@ 140 b) 45 © 24 (d) 240

What is the Shortcut to clear specific Content of a cell ?

fai A &t specific Content & '8 8ide Bl Argede dift ot 3 2
() Enter (d) Ctrl+Home

109.

(@) Shift+tHome (b) Bfgspace
110. Special effects used to introduce slides in a presentation are called _

Presentation g F&ls § UH 05 Bet eas Ae feRmyge s faarawrd,

(@) Present animations (b) Effects

()  Custom animations (d) Trarlsjtion B
CH-001/D 16
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& We will go to a movie

(@) tonight (b) together

15. A group of wolves is called :
(b) Pride

(a) Colonies

116. Synonym of “Placid” is

(a) Agitated (b) Calm

—

(a) Concurrence (b) Conscience

©)

v

117. Give one-word Substitute for - “ Arrangement in order of occurrence” :
(c) Calligraphy (d) Chronologlcal

None of theAbavez '

\ v ﬂb

(d) Pack

%

(d) Flustered
B 4}3’*‘ {

—

118. The Antonym of Docile is :
(@) Simple (b)  Unattractive () Impressive (d) Defiant
119. Varun began to play Piano when he Six.
(@) is (b) only () was (d) None of the above
120. Kasauli is smallest Town.
(@) an (b) a () the (d) None of the above
17 P.T.O.

CH-001/ D

Scanned with CamScanner




-

126. If AIRLINE is written as ENILRIA7, then ]

; A
127. Marathon is to race as hibernation is to - _ ’ i
(a) bear (b)  winter (@ summer  (d) sleep g
Namaes S w3, frd adaadms s 3 s :
(a) fiz (b) W () Trtnt d) st

M.

125. Select the correctly spelt word :

(a) Manouevre (b) Manoeuvre

AR .

(a) YAV\SILARB (b) ' YAWLIAR7 () YAWLIAR8  (d) YAWILAR?
B s 4

P [l

128. In the following question, choose that set of numbers from the four alternative sets, that is simila
' to the given set : A7 |
I&' 3 ye &g, ora feamfua e e siftmiei @ Ga e 98, A B R e 2 mrs 3 L
101t 5 "t
Given set : (223, 324, 425) 18
fésr i : (223, 324, 425) | v e
(@) (623,723,823) (b) (225,326,437) (c) (451,552,636) (d) (554,655,756) |
CH-001/D 18 —
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134. Find the value of (0.49-0.25) / 0.2 ?
(0.49-0.25) / 0.2 T HB B3 ?
@ 14 (b) 102 (© 104

% 42? ¥ @m
135, Study the following arrangement carefully and answer the following question ,»ﬁb

35 3 e = fepmmes 51 miftpites o3 w3 st ¥ e & e o o
Y7&*MW2@VIN%SL?+98A$CH#HJ O
How many alphabets are immediately preceded by an even number ?

(@)  More than three (b) None © Two (d) One
e my wiftenr 3 33 st i wivg 0 2 o
(@) M3 (b) s (e @ fa
CH-001/ D 19 . PECL
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137, Findh

@.6.0),6) @
@ 06,0

(d 5'
S+ 5 - sr\%—an

A=\

\Ne ¥\e= \no°

652 ‘ 552ﬂi.‘aenew?a8§7
(a) /04 (b2 © 6 @ 5

. Which number is wrong in the series 2, 6, 15, 31, 56, 93 ?
8 2, 6, 15, 31, 56, 93 féa fooar &ug a3 3 7

@ (9 b) 6 © 31

Which word does NOT belong with the others ?
a) Aeroplane re :
( ) \E (b) ty (C) Steerlng whEel ( d.) engine

foraar wee gfimi 578 HEfs &dt J ?

- CH-001/D 20
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bf-glrls,
from the left end, then how many girls are t 4ere r

Sadr ot g a3a S, nésvﬁﬁﬁqégném,' ﬁgl.;;
33 10443 siaza g fidmiadias?

o 3 (b) 40 © 38‘;__.

145. Which of the following set of letters complete

gaps ?

wﬁ%w@mﬂ%ﬂwaﬁaﬂﬁw
}-)E\a F— \\ps
@) cba’b,g
- aca¥

146. Intheio]iowmg queshon, choose
to the given set : : »

o “Wﬂﬁ%ﬁmv%ﬂza@me@m&
Given set : (CEH : IKN) ﬁ'r R ggs S
fés e : (CEH: IKN) N e il |

@ (©QT:UWZ)  (b) (A'CD : FHj) ‘() (CDF - 1]1()

147. Which of the following is the odd one from the given altematw :
es

(a) Sailing CE

(00 Diving ) S~11V—-mg

(€3 am2 fearmy & foramn nirtta 3 2 g
(@) ferrdior o e aom A 4 e K

(c) izt A @ 3ot

148. When 8% is divided by 511, what is the remainder ?
e 82598 511 &3 a1 137 /e 3, 3wt ot Jer 3 2

g0 (el © 10
CH-001/ D =

Scanned with CamScanner



149. The ratio of pr
is present age (‘

"(c) 190 mNorth ~ (d) 30 m South
A_garso»ﬂzaéuzgasaﬂa faa@auaaeaua'a
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